ABBRIBTFIN (ETW—1H)

28 vy -5t EEMA A3t

So(w |Bo
*
BDR | L, [#ER

H1500

B 2290 (@)

B@E%ES | KFTHO4039

.

1500

1800

300

2290
80 1060 10 1060 80 S94.5 5975
90| |  11e80=880 |  11080=880 | |90 2 ;_.292 @
e ol O 0 0 M /M M
I3 ‘ g 90 ||
A . .
3 [E_!z:::::::::: i ] - o
“H' /——E\:; u « o o é e o o o e %
g .
I e 4 L is AR uuuu,,uuu//t,
NAAACAAARD ®
1 HFER (1716
: N 4
3 fifalu|siulsiulslsislsislic] | ::::::::::EH”::::: &% 8 i % ® B (mm) h_& i 2
r 1 1 B M B 0100x50x 3.2 STKR400 SHiEE (ThERD- &)
ainiid Il N A B T 2 GEX A 050x26x11.6 STKM1 1A18% v
= 3 GEL Y 050x 26xt1.6 ] ]
ol L - 4 BB t1.6 SGH ]
2 5 5 B 7 050x 30xt1.2 AB063S-T5 BAsILEO KR+ — | i
S 6 LIy t4.5. 920 SPHC SHiEE (ThERD- &)
/ ™~ 7 t v 9 t6. 920 ’ v
] Ar 8 R $12 - BREDD - &
FED (1729 ORI B¢ 4x20 ATvia =
ENE. XBEOB 10 [ 2 12 &5
) BBOKESUSETETS, 0550 N f Q) T s s $13 SGD BRBHY - &
IRERmcEN 12] #UBTL- t4 SPHC '
/@ 13| BUBR by A~ - AFYLA -
= 14 g 147 - PVC -
- 15 294 F28 t3.2 SGMH400BY | #EWARS (FBN®-> %)
B :@ 16| 274 rgu%8 t4.5 u y
2| 7372 7] K@&wt M10x 75 4.618% BREDD - &
- 18 v M8x 100 ] v
NEFEBR (1710 19 ) M8x 70 ) )
20 ] M8x 45 ] ]
50 o A<+ 21 ) M8x 40 ’ )
46 o =] ) 22 ] M8x 20 ] ]
23 b9 2 2Y M6x 40 AFYLA -
@% - 24 L)z M4x 35 XFYLA -
I 25| PYyTL-+ t3.2 SGH HEWERE (FBH®- &)
o = — 26 vy 5 MAY Y - % - £400y /8
@ﬂ - S E|| ][ 271 vuvsi-sn-2 t1.0 SGH HEWEZE (FBHn- &)
o~ J 28]  #y2xTu-+ t1.0. 16.0 ] ]
"I'I' = I 29 Ky 9sARR-Y- t1.6 y v
Il < Il 30 FHTL- b t2.3 ! ]
. s 7g | N, BiEaame P —
@\\g\ L7 — o \@ 33 SR A 1.6 SGH HEWAEE (THERY> )
//"ac—,j ] 14 2 © | _I:r 34| €7 RYTyYe— M5x 19 AFYLA -
s il 12 C) BRAREBROLY. FTERKERET B BV ET,
@“ T T 5 A-A AR I . A BESE: V)Y S -RE. BRFREAVET,
OFAN (17100 ™ “HFAR 110 vy -3¢ (E00y 78) MAY ) - X% CBAKEE O, (Ky 7ty F64mm. BE50mm)

FREOBEW. BIRFI-V VY I IBAEIW,



